NAME DATE PERIOD '

Skills Practice
Inverse Functions and Relations

Find the inverse of each relation.

1.{(3, 1), (4, —3), (8, —3)} 2.{(-17,1),(0, 5), (5, —1)}

FUB), -3,4) (387 2071, (5,0) (-1,5f
8.((-10, -2), (~7,6), (—4, ~2), (~4,0)  4.40, -9), (5, —3), (6, 6), (8, —3))

L(2,10), (0D oy, (0,-wdf  1(-9,0), (-3:8) (©10) (-38)
5.{(-4,12),(0,7), (9, 1), (10, ~5)} 6.{(—4,1),(~4, 3), (0, -8), (8, ~9)

D (3,74), (30), 1y (g7 10350y -a,8)F

Find the inverse of each function. Then graph the function and its inverse.
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10.g(x) = 2¢ — 1° 11.h(x)fix 12.y =2 + 2
900 () = 4 y: Fp%-3
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Determine whether each pair of functions are inverse functions.

| 18.flx) =x — 1 N 14. f(x) = 2x + 3 15.f(x) = 5x — 5 weS
8(x) =9 —x N glx) = %(x -3) (.ﬁf glx) = %x +1 .
M 16. flx) = 2 17. hx) = 6x — 2 18. flx) = 8 — 10 -
. b -
f‘ g(x)=%x ' W’S g(x)=%;x+3. ; g(x)=%x+% \6‘«5
[
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NAME DATE __ PERIOD s N

Practice
Inverse Functions and Relations ‘
Find the inverse of each relation. _
1.0, 3), (4, 2), (5, —6)) 2.{(-5, 1), (-5, 1), (-5, 8)}
EREERNEHY! 11,79 (-1,-5) (8,-5)]
8.4(=38, =7, (0, -1), (5, 9), (7, 13)} 4.8, -2), (10, 5), (12, 6), (14, 7))
1CL-3) (10 (4,5) (3)f 049, (519 (10,12) (1, 14)f
5‘ {(—5’ _4)7 (13 2)’ (3, 4)7 (7, 8)} 6' {(73; 9)’ (_2; 4), (O: O): (1, 1)}

L(4-5), (3 (4,3 8D7 §(9,-3) (4 - (0,0) (1,1)7

Find the inverse of each function. Then graph the function and its inverse,

7. 1) = 3 8.8(x) =3 +x 9.y=3x—2
= - W - . >
7100 = Yax )1(x) - -3 y = B
£ 1T, a i j i
= o X 0 X ||
T ]
Determine whether each pair of functions are inverse functions. )
10.fx)=x+6 - 1L fix) = —4x + 1 12. g(x) = 13x — 13 No
gx)=x -6 S glx) = %(1'— x) Lﬁes hx) = %x -1

13. flx) = 2« m 14. fix) =
glx) = —2 ' glx) =

[0@ 16. g(x) = 2x — 8 {.‘. J 6‘

h(x) = %x + 4

c:squélﬁ

16. MEASUREMENT The points (63, 121), (71, 180), (67, 140), (65, 108), and (72, 165) give
the weight in pounds as a function of height in inches for 5 students in a class. Give the
points for these students that represent height as a function of weight,

121, b%) (1801 (140, & 7) ((0§,65) (((5s,72)
REMODELING For Exercises 17 and 18, use the following information.,

The Clearys are replacing the flooring in their 15 foot by 18 foot kitchen. The new flooring
costs $17.99 per square yard. The formula Aix) = 9% converts square yards to square feet,.

17. Find tlge inverse f~1(x). What is the significance of f~1(x) for the Clearys?
] _ X Lt T v : If‘,\
£ ! (X) - X/(), Conver 99 f 1o yds So o
. (“-‘S'\ 0( f Qy rron e _
18. What will the new flooring cost the Cleary’s? del VU v ]
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